Econ 200

Professor Leffler

Exam 2

Fall 2004


Same Rules (TA grading guide.  Each question has a maximum value of 32.  4 bonus points for name TA name, and TA section letter.  Strive for an average of 16-17.  Read at least ten answers before settling on your scoring system.  For each question you grade, you must prepare a summary of how you graded, examples of good approaches and errors students made.  This must be given to me (in electronic format) by Sunday evening.  I will then post it on the website for the students to read.  Below I provide some comments to guide your grading.)  

I expect the grading to be done by Sunday so that I can post the scores and grades that day, with exams handed back at Quiz on Monday.

1.    A.  Do you agree with the following?  “Economists agree that while trade raises national income
(available goods), it leaves most workers poorer.”  Seattle Times Tuesday 11/9/04
Trade does raise the amount and value of the goods available to a nation.  This must be the case since trade will only occur if the price offered by the outside nation is lower than that available internally.  However, trade is not expected to make most workers poorer.  While the particular workers that used to specialize in the good that is now available from another nation at a lower price will be worse off, all other workers will benefit from the lower price.  (Aside – what is a “worker?”  Isn’t a manager and an entrepreneur a “worker?”  Isn’t Bill Gates a worker and indeed a very hard working worker?) 
B.  T/F  The most efficient technology for producing a particular level of output does not depend on the price of the product but it does depend on the prices of the resources used to produce the product.
The efficient technology (the combination of capital and inputs that minimizes the cost of production) is determined by the quantity of the good that the firm desires to produce and the costs of the resources needed to produce the good.  The quantity that the firm desires to produce will depend on the price of the good.  Hence the price of the good will indirectly impact the efficient technology.  The price of the resources used to produce the product will directly impact the efficient technology in that if some resources are relatively cheaper than others, the producer will desire to increase their use and vice versa.
C.  T/F An increase in the “real” interest rate will likely reduce the value of Wal-Mart stock but an increase in the interest rate because of an increase in expected inflation should have little impact on the value of Wal-Mart stock.
The real interest rate is net of inflation and risk..  A share of stock gives the owner of the stock the right to a share of the firm’s future earnings.  The present value of these future earnings will be a major determinant of the value of a share of stock.  That present value will be lower if the real interest rate rises (PV=F/(1+r)).  Howver, if the interest rate rises only because of an increase in the expected inflation rate, then the future dollar earnings at Wal-Mart are also expected to rise by that rate.  Hence both the Future amount, F, and the “discount” to that amount increase by about the same percent with no expected impact on the present value of the earnings or the share price.   

2.    A. T/F Specialization in production without trade will not be efficient.
True – specialization means producing a set of goods that differs from the set that is the most desired in consumption.  Hence, specializing without the opportunity to then trade for the desired consumption set will, by definition, not be efficient (will make that individual worse off than not specializing.)
B.  Why do most Americans “rent” themselves out rather than making their own decisions about the use of their work hours?
There are substantial production efficiencies available from the use of roundabout production techniques (use of tools or capital to lower the marginal cost of production.)  Use of this production advantage necessitates payment for the capital that is separate from the production of directly valuable output.  Purchase of the capital necessitates complex contracting defining the capital product.  Payment of the capital producing workers by the time unit (wage) with the entrepreneur directing the worker’s efforts can be the low cost way to take advantage of the roundabout production opportunity.  There are also substantial production efficiencies available from use of team production (working together with others.)  In team production the output of individual workers can not be observed.  Hence the workers can not be paid by according to their output and the workers have the incentive to shirk in their efforts.  Payment by the time unit with direction and monitoring by the “employer” provides a method to take advantage of the increased production available from team production.  In summary, the “worker” can have higher income by working for a wage with employer direction that working for themselves. 

C. T/F The revenue from an increase in a sales tax will, other things constant, decline over time.
To a demander, a sales tax increases the price by the percentage amount of the tax.  Graphically the impact is to lower the demand by more the higher is the price.  The sales tax results in an increase in the total price with a fall in the net of tax price to the seller.  An increase in a sales tax will cause a further increase in the price of a product, but a reduction in the quantity exchanged.  The revenue from the increase in the sales tax may rise or fall depending on the elasticity of demand and the amount of the tax increase.  However, the elasticity of both supply and demand will increase the longer a price increase is in effect (the second law of demand (and supply).  The more elastic supply will result in a reduction in the quantity exchanged and a further increase in price.  The more elastic demand will result in a reduction in the quantity exchanged and a reduction in the price.  Together, these impacts imply that overtime the quantity exchanged will fall and the price may fall or rise.  Hence the overall impact on the tax revenue overtime will be ambiguous.  (Grader – this is a hard question.  Be sure to adjust your grading standard to ensure an average that is about 70% of the toal possible points. kl) 
3.   A. T/F  If people are different, everyone will have a comparative advantage in some production activity.
A comparative advantage means that an individual has a lower cost in terms of foregone alternative production than others.  If people are different with different costs of different production activities (and there are many goods, more than there are people), then people will have different relative costs of foregone production for different goods.  This will imply that everyone will have some good for which they will have the lowest relative costs in terms of some other good.  That will be the good for which that person has a comparative advantage.

B. T/F An increase in the price of pears will cause an increase in apple farmers’ income, but income increase will fall over time.
Pears are presumably a substitute for apples.  Hence an increase in the price of pears will cause an increase in the demand for apples.  This demand increase and resulting price increase will unambiguously result in an increase in the income (revenue) earned by apple farmers.  The elasticity of both supply and demand will increase the longer a price increase is in effect (the second law of demand (and supply). This will cause the price to fall overtime with a movement “down” the more elastic demand curve.  However, the “more elastic” long run demand may have an elasticity value greater than or less than [-1].  Hence the farmers’ incomes may continue to rise (elastic demand) or fall (inelasitic demand) over time.
  C.  T/F A farmer who owns his land will likely have lower costs than a farmer who leases his land. 
The relevant economic costs are opportunity costs – the value of the highest foregone alternative.  A farmer who owns his land could lease the land rather than farm the land.  Presuming the land is of equal value, the foregone lease revenue would be equal to the lease paid by the farmer that leases his land.  Hence, they have exactly the same costs. 

4.   A.  Do you agree with the following:  "The U.S. steel companies operate at a disadvantage against
foreign producers.  Even though our companies may be just as efficient as the foreign company, the U.S. companies are burdened with relatively old and obsolete plants.  Therefore, the steel industry must be protected from cheap foreign imports.  If steel does not receive protection, foreign imports will drive American producers out of business, thus reducing the number of jobs available to Americans."  Fortune Magazine.
What does it mean to be “burdened” with obsolete technology?  A U.S. company can always elect to abandon an old plant and build a new one giving it the same technology as foreign producers.  And if new entrants could make steel cheaper than at the existing U.S.  plants, they would enter with a new plant.  The fact that the U.S. firms continue to produce using the old plants indicates that this is cheaper than building a new plant.  Foreign producers may have lower costs than U.S. producers but it does not arise from being burdened with old obsolete plants.

If the foreign producers do have a comparative advantage in steel production, they will (and should) drive the American producers out of this business.  However, the increased sales of steel by the foreign firms will be offset by increased foreign purchases of other U.S. goods (or assets) in which the U.S. has a comparative advantage.  The steel workers will (or can) get other jobs (at lower wages).  There are plenty of jobs available (indeed only if scarcity was eliminated would there be an absence of jobs.)     
B.  T/F An increase in the interest rate should increase the price of vintage (already aged) Port (a type of fortified wine) but lower the price of new Port (which takes a few years to become drinkable).  
The price of new Port reflects the discounted value of the expected future benefits of consuming the Port when it matures.  An increase in the interest rate will therefore lower the present value of these future benefits and thereby lower the price of new Port.  The vintage Port is ready to drink.  Hence for a consumer intending to drink it upon purchase, the increase in the interest rate will not impact its present value (or demand and price).  If consumers intends to age the vintage wine further, the increase in the interest rate would lower the present value (and demand and price.)   

C.  T/F The amount of the shortage caused by a price control below the market clearing price will increase if the price control is maintained for a period of time. 
This again refers to the second law of demand (and supply) – the longer the period to adjust to a price change the greater the adjustment – or the elasticity of demand and supply is greater the longer the period of adjustment.  The immediate shortage caused by the price control is based on the supply given the existing capital equipment and the demand given the existing related goods.  As the price control remains in effect, some suppliers will not replace some such capital as it wears out and they will reduce the available supply, others will leave the industry reducing the available supply.  Both impacts increase the shortage.  It is more difficult to predict the demand side impact as changes in related goods depend both upon the price and the total cost of obtaining the price controlled good.  For example, assume a price control held the price of gasoline to $1 per gallon.  At that price, a consumer might desire to drive a Hummer with 8 mpg.  However, gasoline is available only by waiting in line or offering other benefits to the seller such that people might switch to a Honda Civic to minimize their purchases of the “cheap in price but expensive in total cost” gas.   
